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Please make sure that the printed pages in this qu;esn'on paper are 16 in number
and it contains 20 questions.
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The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.
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Before beginning to answer a question, its Serial Nmber must be written.
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Don't leave blank page/ pages in your answﬁi—book.
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Except answer-book, no extrq sheet will brg'*:] given. Write to the point and do not
strike the written answer. f-,
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Candidates must write their Roll No. on the question paper. Except Roll No. do not

wnite anything on question paper and don't make any mark on answers of objective

type questions.
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Before answering the questions, ensure that you have been Supplied the correct and
complete question paper, no claim in th{% regard, will pe entertained after

examination. :‘2
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General Instructions : o
(T
O

(i) There are 20 questions in all.

fii) All questions are compulsory.
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M) Queshon number 1 consists of fifteen (i xv) objective type questions each o
1 mark L

e
~
i

-
i) \')“(.Snun .VH"]b!'l".‘I 2 to 9\&-"1 very short ansiver r”p(' (ﬂl('S“!’J”S ﬂnd ('Gm*
4 marks each

) Question Numbers 10 to 17 are short answer type questions and carry
3 marks each. -
(N
{11 Question Numbers 18 to 30 are long answer type questions and carry
S marks each. )

(%]
I-L 5

() There s no overall choice. However, an internal chotce has been provided in

all three questions of 5 marks each. You have to attempt only one of the given
choice in such questions.

{riyyUse of Calculators ts not permitted, if required you may use logarithmic
tables.

fix) You may use the following values of physical constants whenever

necessary :
c=3x108mx’$ 1o = 4rx10"Tm A~}
-34 1N 9 nyen 2 -2
h=663x107""JS —==9x10"Nm~“C
dn e
iy
O
e=16x10"17C me =9.1x10731 kg
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[ Objective Type Questions ]
~
o
L) MaIgmundadtmes m@aal: 1
(A) 59 g W (B) ¥ifere gat W
(C) 5% ®H | (D) Y Frm q@

The horizontal component of Earth's magnetic field is zero at
(A) Magnetic poles
(B) Geographic poles

(C) Every Place

(D) Magnetic equatorial

(ii) uﬁmﬁmmmamﬁm@w@mm:g&a}mm

nﬁmﬂw@mﬁm@wa@ﬁ%: :
J

(A) 4/3 (B) 49 : ]

C) 25:7 (D) 256 : 8]
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(6)
: ‘he ratg
| si1s 16 0 9 1 .
Intensitics of two light wave
The ratio of the intensitics

. . | iti . l I- "

~
A 4 E(B) 49 : |

€ 25:7 GID) 256 : 81
() 5T g & R P R Pk e &

A) %30 o s & o w ~

(B) Faw e 3 o gy 3

™
(C) m@amm#ma%%wgﬁ#w
(D) S e ) ey g

ect
Frequency of incident light only

The Stopping potential for photoel

rons depends upon :
()

(B) Materig] of the cathode only
(C)

(D)

I'\-
(iv) %%@-Wmﬁ: hﬂﬂhqm%ﬂwam%:
L
) o U(B) /4
(€C) =nj2

D) g
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In the electromagnetic wave, N;'!_} phase difference between electric field and

magnetic feld is : "8
(A) 0 (B) /4
(C) n/2 N (D) =
<
22
Tg]
O

(v) T 40 dfc F 2 Ry =t B Afew ¥ et 7 ¥ wdew g0 | K o@wm a1
(A) 20 3 (B) 60 dfe

(C) 80 (D) 100 8k

Two electric bulbs of 40 watt each are connected in series. The power

consumed by the combination will be :

(A) 20 watt (B) 60 watt

r~
N
<
™M
Ty}
O

(C) 80 watt (D) 100 watt
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il m R W A o A A T 3, A ged e 2 e aoedd & R

r-.
A particle of ma%'k m is moving with a velocity v. Write Jdown the formula for

™
the de-Brogle ‘sﬁvclength associated with the particle

(vii) FTEEET & A8 & (iron loss) T 2T & ? 1

[‘-n.
What are iron léss in a Transformer ?
<

™
D)
Q
* "
EAE
(viii) B3 T R § @ edis D o afFa ? e Iep9 e ? 1
D
. N
16V "W']'JQW LT
["‘-
Is the Junction §ode D is forward or reverse biased in the given diagram ?
2
un D
- 16V § ™)

""’ll
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(x) TF A9 A awa 5D ¥ A9 B BEE g R 1

The power of a lens is + 5D. Write the focal length.
™

<
(%) Wﬂz?mmmﬁwﬁ%amaﬁﬁwﬁwwmmu 1

Calculate the ratio of the radii of two nuclei of mass numbers 27 and 64

respectively.
(xi) T e RyE & F01 g6 Rgg AW At & 1
<r
a2
The electric field due to an elect@ dipole is .............. symmetric.
3
ERE
[xii]5x105Hzﬁ109HzﬁiﬁaﬂqﬁTWﬂaﬁgﬂ§ﬁﬂﬁﬂﬁﬁ .............. Feard &1 1
The electromagnetic waves of frequency range from 5 x 105 Hz to 10% Hz
are called ......... e .
(xiii) O TR Frea SR 2 pQ ¥, & e | :

The conductance of a wire of rcs@tancc 2 1S )
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[~
(iv) 220V a. . F R AA B O 1
(al]
The peak value ol 220 V a. c. 18 L .

(xv) a. c. SR9Y F1 AR T AT & coS 9 = e | :

r.

The power factor of an a. c. c%uit is given by cos ¢ = ... ... -
ag)

)
e -9
SECTION -B
[ Sy Sl e |
[ Very Short Answer Type Questions ]

2. gt W (vate) 3 Rg mom a1 Praw g 3 7

What is Gauss's law for electric lux ?

3. ﬁaﬂﬁmﬂacaﬁmﬁmﬁmmpaﬂro%ﬁawmﬁmmw%u

20
|| 2
Pe— L ' — 2000
C g e Q
20pF
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Calculate the capacitance of the capaci@‘ C in diagram. The equivalent

. ) m .
capacitance of the combination between P amd Q is 30 pF.
Q)

4, B & G P @ Tl Y

Explain Kirchhoff's Junction rule.

5. R¥ga Fv1 7 799 o 17 A Rwia A

20pF
|| 20puF
A
| [-20pF T
3 <
Ag!
(K]
@)

Define the term angle of dip and declination.

6. G- W TRl B e wwh R

Write two uses each of microwaves and Gamma rays.

7. Tt sieRe TE B wRia &

Define Total Internal Reflection.
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8. TR & o a7 A gdn A e a7 A gEE AE A mbem o
7ay

_ tiele s its distance of ¢lg
Write the relation between kinetic energy of u-Particle and its distance of ¢losg

rnment
approach from nucleus in Rutherford s a-scatterning expenm

427

9. A pn WY BT B T T Reard 3 5w A A ofver R R FRwL B o
fi 9133 -

Draw the circuit diagram of a full wave rectifier using two p-n Junction diod:

Draw input, output wave form also.

i

qE - g
SECTION-C

[ Y T 59 )

[ Short Answer Type Questions ]

10. memm@a%mmaﬁmh@hmE%mm
: - 3

Find the €xpression for electric fidld intensity E due to uniformly charged

spherical shell at g point inside the shell.
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(IR
1 7 Rrer wEy R, deeder 3 R s o ¥ 7 3

?

| 13.

13.

14.

15.

Explain the principle of potent@netcr. How is potentiometer superior to that of
a voltmeter ? U

w@ﬁmﬁﬁwwmq&ﬁmgﬁmﬂqﬁqﬁam1@mﬁ-m
g A T A w 3

[‘-
Define current sensitivity and @ltage sensitivity of a moving coil galvanometer.

How can a galvanometer be ma%t more sensitive ?

L
a-aad Prm & e e gE g @ o R 3

State Biot-Savart's Law. Write its Mathematical form.

s & A ¥ 7 sa-arel 3 @ @ g R 3

What are Eddy currents ? Write any two applications of Eddy currents.

mfaz"m12@q,@mm14mm@mmaemmaom
50Hzﬂmﬁwaﬂﬂﬁraw%|mﬁ:

(i) Sfeamer
(i) Raw § Rgg T 3

A resistor of 12 ohm, a capacitor of reactance 14 ohm and an inductor of

Calculate : Ng)
()

) Impedance and

(n) Currentin the circuit
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P.T 0



(14) 228/(89‘.(:)
16. ﬂw-mmmﬁﬂﬂmmﬂwsﬁmﬁmﬁwﬁm%ﬁ‘ﬂw¢w

™
W e ? e v @ e w5 r ’
22
Ve ‘ .
Derive mathematically the conditions fér constructive and destructive
interference at an arbitrary point due to coherent sources in terms of phasc

difference ¢.

17. SREH 3 s fgg Tl @1 avi w0 gu P v s R @ s
B qWE F1 o Y N 3

N
.Jl
"
Using Einstein's photoelectric equation, exp}ain cffect of frequency of incident

radiation on stopping potential, https://www.haryanaboard.com

b
Y.
Op{0

T -7
SECTION-D

[ Fadg o )
[ Long Answer Type Questions ]

e

Write Huygen's principle of secondary wavelets, and use jt g explain law of

reflection of Light.
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OR

TR TR w i v o on gl gt wom w0 g #Hm 7w
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<
Draw the rayv diagram of a compound nmrmcopc and obtain an expression for

the magnifving power of microscope, wi‘l’cn final image i1s formed at the lcast

distance of distinct vision.

19. w3 frz 2 siig ) oftwm freer g "aw efem @i, 5

Define decav constant and half hfe and denive a relation between them

OR

Heatfe ma 3 P @ T B T 99 #73 3Ee B ek aiE &, 5

Explain the laws of radioactive decay. %ri"c an equation of radioactive decgy
- !

using these laws nm-g
©
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20. v Ty A wEa A @A A B cE fmm d @ ponop Zife B g G
aq 7 @ R A @ gad w7 - -

™
q .
With the helf of necessary circuit diagram, duu;!]l:ribc briefly how p-n p transistor

in CE configuration amplifies a small sinusoid®l input voltage.

YA

OR

= -~ a
@@ nop-n gt @ owale IS (CE) Re@ld sftemis @8 & v w7 %
R ofrqe se & Ew g9 R & ged () BRa @ i) P sfwemfet @ oz .
e # e A FRw R B o R 5

Sia
‘,..
Of 10

Draw the circuit diagram for studying the characteristics of an n-p-n transistor
in common emitter configuration. Sketch the typical (i) Input and (i) Qutput
characteristics in this configuration. With the help of these characteristics define

input resistance.
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